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import java.util.function.Function;

public class Main {
public static void main(String[] args) {
Function<String, Integer> stringlength = s -> s.length();

System.out.println(stringlength.apply("Hello"));
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import java.util.function.Predicate;

public class Main {
public static void main(String[] args) {
Predicate<Integer> isEven = n -> n % 2 == 0;
System.out.println(isEven.test(4)); // H7: true

System.out.println(isEven.test(5)); // H: false
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import java.util.function.Consumer;

public class Main {
public static void main(String[] args) {
Consumer<String> printer = s -> System.out.println(s);

printer.accept("Hello, World!"); // H7: Hello, World!
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import java.util.function.Supplier;

import java.util.Random;

public class Main {
public static void main(String[] args) {
Supplier<Integer> randomInt = () -> new Random().nextInt(100);
System.out.println(randomInt.get()); // 0 N'5 99 DEIDEZZ H7]
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import java.util.Arrays;

import java.util.List;

import java.util.function.Consumer;
import java.util.function.Function;

import java.util.function.Predicate;

public class Main {
public static void main(String[] args) {

List<String> strings = Arrays.asList("a", "bb", "ccc", "dddd");

Predicate<String> longerThanTwo = s -> s.length() > 2; // REW 2 KODRVWFIZ 71 ILAE)

Function<String, String> toUpperCase = s -> s.toUpperCase(); // AKX F|C B
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Consumer<String> printer = s -> System.out.println(s);

strings.stream()
.filter (longerThanTwo)
.map (toUpperCase)

.forEach(printer) ;
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strings.stream()
.filter(s -> s.length() > 2)
.map (String: :toUpperCase)

.forEach(System.out: :println) ;
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isLong.and(startsWithA);  System.out.println(isLongAndStartsWithA.test("Avocado")); // HiJJ: true
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